SECTION - | L O
MATHEMATICS R
1. =2 LiemE . Loafr 3@ @ X o am
If secx = 4then, g e is equal to secx = : e
(A) 1/25 (8) 9/25 &
() 3/4 (D) 12/25 (A) 1125 (8) g/25
© 3/4 (D) 12/25
2 # A=22and B=LthenA+Bis 2 g p= drRpg_-*1NA+B 2
x-1 x+1 x=1 x+1
(A) None of these ~ (B) 2(x2 4 1) (A) ®1$ & ®2(x2+1)
(x - 1) (x —1)?
© 2(x*-1) O x2+1 ©2(x2-1) O)x? 41
x2+1 x2-1 x2+1 x? -1
3. Value of 1 Radian is 3 1 eTT BT AA @ -
(A) 47°15'17" 8) 60°30'15" (A 47°15'17° (B  £0°30'15"
(© 180° (D) 57°17'45" (©  180° (D)  57°17'45"
4 If15% of m=20% of nthenm: nis 4+ FE m B 15% = n BT 20% B, A mn
(A) 16 : 17 (B) 17: 16 =
(©3:4 (0)4:3 ) 16 : 17 B 17:1%
€ 3 :4 L S
5 The median of the following distribution is 5. fo= arferer @ wiftgeT &1 99 2
x|8|5(/6|10/19]|7/|4 x| 8,5(6|10/9(7|4
f|6/4(5(8|9|4|6 f|l6/4/5(8|9]|4 | 6
(A) 8 (8) 9 (A) g (8) o
(© 10 (D) None of these @ 10 o) HE T
6 The total amount for a sum ofX 400 for 3/6. ¥ 400 &1 3 a¥ & fIU 5% wERY
years at simple interest at 5% per annum will qffe =9 & =% A T €9 e
be B 2
(A) T 415 (8) T 412 (A) T 415 (8) T 412
(€) T 460 (D) ¥ 435 © ¥ 460 (D) T 435

-
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1
Iftan A= —and tan B =

V3

cos B -sin A « sin B will be equal to
(A) O (B) 1
2

(D) \/§/2

/3 then cos A«

1

8. Distance between two lines
3x+4y—-9=0and 3x+4y+10=0
is
(A) None of these

(C) 10 units

(B) 9/5 unit
(D) 19/5 unit

9. Find the value of
V3 cos 23° -sin 23°

2
(A) tan 53° (B) sin 53°
€)1 (D) cos 53°
0. 2/3is

(A) A natural number (B) Aninteger
{C} A rational number

(D) Anirrational number

13
" Ifcos A= %and cos B = ¥, then cos (A - B)

10.

1
‘ﬂﬁtanA—Eai‘l?tanB—@a‘r

cos A. cos B-sin A. sin BT
HE B -

() o (8 1
2

ar Gt 3x+4y-9=0 R
3x+4y+10=0 & 4T A gq
A g & () 9/5 TS
(© 10 sHIS (D) 19/5 SHIS
v/3 cos 23° —sin 23°

2
HOAM B
(A)tan 53° (B)sin 53°
€ 1 (D)cos 53°
Y3t

W TH gipa wen B) e guie e
© v 9RFg e
0) v uR¥Ay e

'?lf%cosA=%31’l'\'cosB=Eﬂ’Tcos

14
is (A-B)®
(A1 (8) E (a) 1 (8) 13
98 98
© 1 (o) 18 i 1 (o) 18
2 49 2 49
Page: 3 477661
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profit of 20%. Then the cost price of the car is
{A) ¥ 90,000 (8) ¥ 60,000

() T 80,000 (D) X 70,000

3. Ifa:b=3:4andb:c=8:9,thena:cis 13.
(A)1:3 (8) 3:2
€©1:2 0)2:3

4. If x is the mean of n observations |14

n

Xy, X3, X3, ..., Xn, then F(x-X) is equal
i=1

to

(A 1 (8) 0

(€) None of these (D) o

15. Distance between two
(acos @,asina) and (acos B,a sin B) is

equal to
(A) _ fa+ B\ (B) a+ B
2a sm( > ) 2a cos ( > )

2asin (a; B) W 2acos (a; B)

()

16 LCM.of x® —9xand x? —2x—3is 16.
(A) x-3 B x + 3
© x(x + 1)

® x(x+3)(x-3)(x+ 1)

- By selling a car for T 72,000, a person made a | 12

points 15.

TS AT U6 BN B 7 72,000 § d95%
20% T HAMI B, Ol SR & Y §od
&

(A T 90,000

(€l ¥ 80,000

(8) T 60,000
(®) ¥ 70,000

AT a:b=3:43ARp:c=8:09
Wa:c?

(A) 1: 3 (B 3 :2

el S T D) 2 : 3

afs n e X,%z, X3, .. Xp P

qeg 78, o i(ra—i) BT AT
i=1

(A) 1 (8) o
(© g 78 (D) o

a1 fagsht (acos q,asina) IR
(acos B,a sin B) & i g8 2 -

AW sa+ B (8) a+ B
Zasm( 2 ) Zacos( 2 )

() a-B (D) a- B
2asin ( ) Z2a cos ( )
b g 2

x*—9x IR x2_2,_3 BT LCM. &
(A) x-3 (B) e ]

€y xlx 39
P xx+3)E-3)x+ 1)

LT

Page: 4
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T

18.

18

What must be added in 12 + 4y? to make
X

it a whole square ?

() 6x (8) 6y
v x
() 12x (o) 12y
y x

The value of tan G + 8) - tan (%" + 9) is

(A) 1
© -1

(8) 2
(D) 0

Ifa+b+c=11and ab + bc + ca = 20, then
thevalueof 233 + b® + ¢*-3abe

.

s 2 4y? F T SR g e

99 WY ?

(A 6x (8) 6y
¥ b 4

() 12x (o) 12y
y x

tan (f+e).tan (= +6) #17m @
4 4

(A) 1 (8) 2

@ 4 (©) o

G a+b+c=M3ARab + bc + ca
= 20 B, W 34 b4 3-3abe B

(A) 671 (8) 341 HH -
(€ 121 (D) 781 (A) 671 (B) 341
(© 121 (D) 781
20. Two supplementary angles measures |20 gfe =) oL B 1]
5x + 15°and 4x - 6°, angle are 5¢ + 15°3k4x - 6° BT, O DN &1 T &
(A) 120° 60° (8) 95°,85° (A 120°60° (8)  95°85°
(© 100° 80° (®) 110°70° (©  100°80° o) 110°,70°
21. If one root of equation 2x? — 10x + P = 0|21 Igfe giexor 2x2 - 10x+P=0 91 &
is 3, then the value of P is T 3 B, AT P BT AN ® -
(A)P=6 B p=-3 (A p =g B p-_3
() P=9 D) p=12
@O p=g D p =12
2. If 2x+ y=35and 3x+ 4y=65thenthe| 2 Jfr ,, . y=35 IR 3x+ 4y =65 ar =
y
x-
value of ;IS E K I
(A) 2 (8) 3 A 2 3
© S ©) 4 © 5 (D) 4
Page: 5 477661

7



23

24

28. A 100 m long train is moving at a speed of 60

If x +y=7and3x - 2y = 11, then

O x=5y=5 0O x=5,y=2

- The sum of roots of the equation
x2—3x—-28=0is
(A) -28
(€ -3

(B) 4
(D) 3

- The arithmetic mean of given data will be
67, 65, 71, 57, 45

(A) 71 (8) 72
(c) 61 (D) 62
. The median of 15t ten prime numbers is
(A) 12 (B) 13
€ 11 (D) None of these

- The length of a rectangle is 8 cm more than
its breadth. If the perimeter of the rectangle
is 68 cm, then its length and breadth is
(A) 21 ¢cm, 13 cm (8) 20 cm, 10 cm

(€) 30cm, 20cm (D) 25cm, 15¢cm

km/h. Then the train will cross a signal pole in
(A) 10 seconds (B) 4 seconds

23.

24,

26.

27.

28.

A x4y=7 AR 3p—2p—11 @A
Ay =2 v=15

Blx =0,y=3
Ox =5,y=5

Py _5y=2

TSR 42 3y _28-0 & Hl @

AT 7
(A) -28 (B) 4
s ® 3

MBS 67, 65, 71, 57, 45 P AR
ey BANT -
(A) 71

€ 1

IR T 9T HEAIST $ Aiftge & -
(A) 12 (8) 13

© 4 o) HF &

U6 I & I Sud drers o 8
cm 3®F & | I} g &1 gRE 68
cm B, a1 IS TS 9 A #

(A) 21 ¢cm, 3 cm 8 20 ¢cm, 10 cm
© 30 cm, 20 cm ®) 25 em, 15 cm
TH 100 W ot IAMS 60 km/h @I

gid A 9N U Riad 9iad 31 fbasy
THT H UR &Y ot 2

(B) 72
(D) g2

(€) 6 seconds (D) 3 seconds (A 10 ABTE (B) 4 Ypvs
@ 6 JFvs (D) 3 JYpve
2. cos 75° + sin 75° is equal to 2. 0575° + sin75° &I HT
A /3 B 1 A 3 () 1
2 - e 2
© e (D) 1 © V6 (D) 4
- £ 3
Page: 6
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30. In the given figure of circle with centre O,
chord AB makes an angle of §(? with the

centre. Then £ APB is

W 40° ) 100°

© 14¢° (®) gge

31. In the Adjoining figure, DE || BC, then value

of xare

w R M i § 99 &1 Fw 0, IR e
AB.WWSODWWW%E?[
LAPB ®

(A)

100°

() 140° (D) 90°

-fev T = & pEBc @ x FT AW -

(€ 1 (D) 1
—11_-2_ 1,__
(©) 1 (D) 1
_‘1:_.—. 1,__
2
2 1f logem + logg i-: g, then m is equal to | % 3f¥ logem + logg é: s al m & A
(4) 4 (8) 24 3
© 12 (D) 18 (A) 4 {B) 24
€ 12 (D) 48
Page: 7 477661
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3. The value of cosec? 67°— tan?23°is
equal to
(A) -1 (8) 1
©0 (D) =
34. The number of 6 m cubes can be cut from a
cuboid measuring36 mx15mx 8 m is
(A) 25 (8) 10
() 15 (D) 20
. x/y
*Uf x¥= y¥then (f) is
v
: i)
(A) /) (B) (;- 1)
x M
C x o
(c x(y+ 1) (D) x(y 2)
36. e
if sinB= = then the value of
3sin?8—4sin®0 -cosBis
(A) 1 8 1
2 i
i -1 o)y 3
V2 2
37. 1f9:15::45: x,thenthevalue of x is
(A) 75 (8) 3
(c 27 (o) 9
38. Three solid sphere, whose radii are 3 cm, 4

cm and 5 cm melted into a single sphere, its

36.

cosec? 67° — tan223° 1 W1 T
-1 (8) 1

© o

(A)

(D) =

38 mx 1 mx 8 m oA drel =ATH
¥ 6 madR & fhad 89 &I W1 Tdha

g7
(A) 25 (8) 10
© 15 (®) 20
A xy = y= ?ff(f)x’yaa‘rqr«r%_
oy
‘A) (x/},) ‘B] % 1)
x 69
(€ E4a (D) Xy
x4 i
1 1
I sinB= = B
3sin®@—4sin®0 -cos@ BT AM € -
(A) 1 (8) 1
= -
(c) 1 oy 3
V2 2
AT 9 115 :: 45 : 4 B, A, BT A
g
(A 75 (8) 3
@ 27 (D) g

@ I Ml B’ 3 cm. 4 cm
IR 5 cm & T Ruamexr & 3™

radius is AT AT A T A IS A= B _
(4) None of these  (B) 9cm (A B T (B) 9 cm
{€) 6cm (D) 8cm ©) 6 cm () 8 cm

Page: 8 477661
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39.

40.

41,

42,

43.

if the line PQ is parallel to line BC of A ABC,
then

A
P / e \ Q
B ’ C
W AP_AQ @ AB_AC
PB QC AP AQ
© AP _PQ () BC AB
AQ BC PQ AC

If a, B are the roots of the equation
2x2—-3x+1=0. Then the value of

o+ Bis
(A) 9/8 (B) 9
(c) 8/9 (D) 8

Sum of two numbers is 21 and their
difference is 11 then the greatest number is
(A) 5 {B) 10

€9 (D) 16

If 7x:63=1:9,then xis
(A) 1 (8) 2
-1 (D) 3

Find the average of first fifty natural numbers

39.

40.

42,

43.

@ PQ, AABC @ W& BC & OHI=<R ),
ar

A
P / > \ Q
B 4 C
W AP_AQ @ AB_AC
PB ~ CC AP AQ
@ AP _PQ (o BC AB
AQ BC PQ AC

A o, pENI 252 _3x4+1=0 &
gl &, A o3 4 g3 B AT T -

(B) g

(D) g

(A) 9/8
© 8/9

- g I st &1 AN 21 AR R H

B, a1 99t e ®

A) 5 (B) 10
© g (D) 16
AT 7x:63=1:9 A x &
(A) 1 (8) 2
© _q (o 3

TUH AT Widfae sl @1 iea sd

(A) 21.55 (B) 25 0 |
(€) 12.25 (D) 25.5 (A) 2155 (8) 25
(€ 12.25 (D) 255
Page: 9 477661
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44 If /21 = 16, then the value ofnis 4. gfg Jou 16, W n & AEE
(A) 3 (B) 8 (A 3 (8) 8
(€) 4 (D) 2 € 4 (D) 2
45. The value of 45. a b C
. 4 b ¥ c (a-b)(@a—c) * (b—c)(b-a) * (c—a)(c-b)
(a-b)a-c)  (b—c)b-a) (c-a)(c-b) 1 A 2
is (A 2 (8) 0
(A) 2 (8) 0 © 3 ) 1
3 (D) 1

48, 46.

If points (1,2),(x,-1),(4,5) are collinear,

o g (1,2),(x,-1),(4,5) NG &,

then the value of x is ar oy B A g
(A) -3 (B) -2 (A) _3 @ 2
©1 (D) 2

(© 1 D) 2

47, 47.

The value of cos 15° — sin 15° is equal to

w 1 ® 3 (A)
V2 2

@ 1 © 1 (©
3 2

48, 48.

Number of parallel tangents of a circle is

(A) 4 (B) = g
(A) 4
(© 1 (D) 2
(c) 1

49, 49.

1 :
Ifcos 8 = = then the value of tan 268 s

(@ 1 ® _ 3 (A)
V3
© 3 © 1 (©
V3

cos 15° — sin 15° &1 AM & -

1 ® 3
V2 3
1 (D) 7
3 2

TH gd B GHRR WG B e

(B)

a0

(D) 2

‘Tﬁcos'a:%.?ﬁtan 20T A &

1

® _.J3

(D)

; o
Gl =

Page: 10
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50. sin (- @) is equal to

5. gin (-@) BT AT B -

(A) cosO (8) —cosO (A) cos @ (B) —cos 9
(© sin® (D) —sin® (c) sin @ D)  —sinB
I
|
|
= |
f |
|
|
|
{
|
Page: 11 477661
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51.

SECTION - 11
PHYSICS, CHEMISTRY & AGRICULTURE

Potassium chloride contains K-(Approximate)
(A) 60% (B) 80%

(€} 70% (D) 50%

51.

HIT - II
Hifas e, g s o i

UefRE FeiRTges d uRelPrm @ ufiee

HET & (GFTH)
(A) 60% (8) 80%
Q) 70% (D) 50%

s2. Which of the following compounds can be |52 HR & *MSIer # b & w9 §
used as anti-freeze in car radiators ? a1 o A T frar <1 goar & 2
{A) Ethyl alcohol (B) Methyl! alcohol (A) TASdl Uehled
(€) Ethylene glycol (D) Glycerine (8) fEmEd Uepigd
(©) Tl TSI
0) fRaed=
s3. Which of the following atoms would be|ss. fpr § ¥ &9 W WAN] IATEHE
paramagnetic ? ET?
(A) Be (8) N (A) Be (8) N
(© Ca (D) Zn © Ca (D) 7Zn
s+ Which physical quantity is constant for a|s %8 § god g3 STE & ford a9 M
satellite in orbit ? Hifte AT ReR &<t & 2
(A) Angular velocity (A) Hofig 47 (B) v gvor
(B) Angular acceleration (© wpofrr war (0) Tfysr Hert
{€) Angular momentum
(D) Kinetic energy
s5. “Pusha RH-10" is a hybrid variety of 55. “U¥I] HR.Ud.-10" b Gl [ &
(A) Bajra (millets) (B) Basmati Rice (A) gToNT (B) gTTHdl ITddl
(€) Wheat (D) Sugarcane © g (D) =1
Page: 12

TURRIEg



57.

50,

In the following figure the equivalent
resistance between ‘A’ and ‘B’ will be

30
30
A B
A 120 8 5Q
@ 225Q o) 120

Which gas is used in Electric Bulb ?
{A) Carbon dioxide (B) Oxygen

(C) Helium (D) Argon

IUPAC name of
H3C—(|Z=CH—CH2ﬂCH3

)

(A) 2-chloro pentene-2
(8) 4-chloro pentene-3
(€) 2-chloro pentene-3

(D) 4-chloro pentene-4

The value of one Faraday charge is
(A) 96500 Coulomb  (B) 10° Coulomb

(© 3.7 x 10° Coulomb
0) 623 x 10?3 Coulomb

A particle of charge ‘q’, mass ‘m’ and velocity
v, enters perpendicular to a magnetic field

‘B, force on particle will be

56.

57.

58.

59,

60.

R % A dR B & dia geuid FRRE

30
30
A B
(A) 12 Q (8) 5Q
(€ 22560 (D) 1.20Q

Foifde® ded H Wgdd @ W drelt I
g

(A) wdT STFsitFaTSS

(B) IR

© Sfergq (D) Frfq

HgC—?:CH—CHZ—CH3
Cl

H1 S AW T B -
(A) 2-FARY T=-2 (B) 4-FIRT U=C19-3
(€ 2-FRT UF-3 (0) 4-FIRT UCIe-4

g e faem smdwr & W ®
(A) 96500 FolH  (B) 406 Pcil¥

© 3.7 x 10° g

@ 623 x 10?3 gom

6 & st dJ[de q, SEEIH mr
T AT 4 B, O &F B F o Edq
gl ® | B W W 9

(A) qVB ® ¢°VB (8 qVB ® g*VB
m m
© qmVEB ® qVB © gmVB ) gqVB
Pag 13 477661
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61. When 1% electrons are removed from a

neutral metal sphere, the charge on the
sphere becomes

(A) +32 uC (8) —32 uC

© —16uC (P) +16 puC
62. The correct order of Radii is

(A) N<Be<B

B FF<0?2<N?

@ Na<Li<K

(D) Fe*3 < Fe'? < Fe**

In a 10 cm long horizontal wire, 5 Amp

current is flowing. The mass of wire is
3 X 107% kg/metre. What will be the field

to keep wire stable ?
(A} 588 x 107 Tesla downward

8) 0.6 X 107 Tesla upward
€ 588 x 1073 Tesla upward
(0) 588 x 10~* Tesla downward

Phenol with dilute HNO, gives
{A) Meta and para nitrophenol
(8) Ortho and para nitrophenol
{€) Ortho and meta nitrophenol

(D) Tri nitrophenol

61.

62,

63.

9 UE M W ogo1¢ FolwE Fera
forr s € dr Ma W gy &

(A) +32 uC (8) —32 uC
(© —16uC (D) +16 uC
Broar &1 af #9 ® -

(A) N<Be<B

B <02 < N3

() Na<li<K

(D)  Fet3 < Fe*t? < Fe'™*

UH 10 A aW 8 arR A 5 WmR
gRT yqifed & & | 9r 9 uefy
3)(1(}-3135'51@11!:!?{@{3“31'\'3#

Rer @ & forg &3 &1 w9 @
W 588 x 10~¢ <¥ A B AR

0_6;,(10—33'&“@?3%3?!'\’
588 x 1073 <RIl W B 3R
588 x 1073 °WIl Htd &1 IR

(8)
()

(D)

I HNO, ® W il e w%
SO T B

(A) Fer 3R 9RT ATselftheie

®) ‘i IR URT AT

(© ‘gt R Ver AEgfhia

(©) g5 ATgghetet

8. The metal that cannot displace hydrogen|ss. qg a1 I & o EEgEARG 3 A
from dilute hydrochloric acid gggeE o fenfia 98 % aadt &
(A) Copper (8) Zinc (A) Frar 8 Riw
{©) Aluminium (D) Iron © v (D) ST
Page: 14 477661
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66.

67.

69.

70.

A force is applied on a 6 Bm mass (at rest) for
20 seconds. After it no force is exerted on it
and after travelling distance of 50 cm in 5
seconds, mass stops.

The amount of force in Newton will be

(A} 5 X 1075 Newton
(B 5 x 103 Newton
© 0.2 x 10~ Newton
) 0.2 x 1072 Newton

Work done during the expansion of a gas
from a volume of 4 dm? to 6 dm?3 against

a constant external pressure of 3 atm is (1.1
atm = 101.32 J)

(A) -608 J (B) -304 )

(©) +304 J (D) -6

PH value of 0.0001 M HC] solution is
(A) 5 (B) 6

) 4 (D) 3

Little leaf disease of mango and brinjal is
caused due to the deficiency of
(A) Iron (Fe) (B) Calcium (Ca)

() Zinc (zn) (D) Sulphur (S)

Length of a rod increases 0.2% on increasing
the temperature by 100 °C. The value of

coefficient of linear expansion of material of
rod

(A) 2 %105 per °C (B) None

(© 2x107*per°c O 3x 10-5 per °C

67.

69.

70.

© 02 x 1073 5

@) 02 x 10 %2~

TF N 3 ISy Rer g v

4365 W 635’ Tb IWaT F
ﬁmeﬁ%li%mnmms‘nn(uatm
= 101.32 J)

(A} -608 ] (B) -304 )

© +304 ] ) - )

0.0001 M Hc! fera™ &1 pH w2

(A) 5 (B) g

€ 4 (D) 3

AR AT H B vl A e
S BT L 2

A IRRT (Fe) (8) Hfeer (Ca)

@ Riw (zn) () e (S)

100 °C 919 991 W B$ & =S 0.2%
9% ST ' | B & yerd a1 W& yaR
OliE BRI -

A) 2 x 1075 gmoC

(B) Eﬁﬁaﬁﬁqﬁ

© 2x107*mec ) 3x 10~5 sy °C

Page: 15 477661
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73.

74

75,

76.

A cycle tyre bursts suddenly. This represents
an

(A) Isobaric process  (B) Adiabatic process

(C) Isothermal process

(D) Isochoric process

How many electrons an atom have in M shell
whose atomic numberis 19 ?
(A) 6 (8) 1

(8 (D) 7

Soils of Western Rajasthan have a high
content of

(A) Aluminium (B) Nitrogen

(€) Calcium (p) Phosphorus

A man can see upto 5 metre clearly. To see
clear upto 10 m, the focal length of lens will
be

(A) +20 metre {B) -S metre

(€) +10 metre (D) -10 metre

Two springs with spring constants
K, = 1500 N/mand K, = 3000 N/mare

stretched by the same force. The ratio of
potential energy stored in spring will be
(A)4:1 (8)1:4

©1:2 0)2:1

Which of the following is an insulator ?

(i =

72.

73.

74,

75.

mﬁmaﬂmmmﬁlm
uftear grft
(8) woerdt ufear

(© wwardt wfeear

(D) HT i

TF WA ORIET WRE] HHD 19 -
M B A goldg Bil

(A) 6 (8) 1

© 8 ) 7

Raft o @ el # sfee A

§ urn S ®
w TegfafEE (8) g
() HREPRE

(0 dfern

FE T 5 AR B T TP WL @
Tbdr & | 10 deX 9% We @ F ford
JATF T B BIE g B
(A) +20 #Hex (B) _gafrer

(© 110 #Hiex (D) 10 #H¥eX

®) v wfehar

a1 fom e i FAaae

K, = 1500 =g=/s& A K, = 3000=g+/%
& 3 9uE 9 § Grar wrar & | R
¥ wifd Rufe wof &1 Fgaa 8
A 4 -1 (8} 1: 4

© 1:2 o3 =9

P paa® P € 2

(A) Graphite (B} Aluminium (A) AHIEE (B) qﬁg_ﬁﬁ'&'ﬂ
(¢) Diamond (D) Silicon © & (D) Ryferer
Page: 16
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78.

81,

The volume of a gas at 1140 mm of Hg
pressure and 546 °C temperature is 150 litre.

The volume of gas at S.T.P. will be
(A) 150 litres (B) 75 litres

(€) 750 litres (D) 100 litres

The metal which is found in the native state
(a) Al (B) Na

() Ca (D) Au

Accepting the definition that an acid is a
proton donor, the acid in the following
reaction

NH; + H,0 & NH] + OH s

(A) OH™ (8) NH;

(© H,0 (®) NH;

The number of neutrons in U238 are
92

(A) 146 (8) 92

(©) 330 (D) 238

If velocity of light in airis 3 x 10° m/sand
that in water is 2 x 10% m/s then what

would be the critical angle ?

(A) 3 (B) 2
sin™! (—) sin~1 (—)
2 3

78.

81,

140 oft UR & <9 TA 546°c AT W

M T AT 150 ofiex & | @9/ ag
A q9 W W FT AmET B
(A) 150 offex (8) 75 offex

(© 750 oftex (D) 100 offex

(A) Al B) Na
© Ca ) Ay
T 98 BT & oI fF WEH em @w
UHaT & | 39 IRUNT & IER W) e
atifspar ¥ ard B
NH; + H,0 = NH] + OH"
(A OH~ (8)  NH;
© H,0 (0)  NH,
238 =N z
U™ T S B < @
(A) 148 (B) g2
(€} 330 (D) 238

A T BT AT AL F 3w 108 my0
HﬂTWﬁzXloﬁﬁma.FﬁW
DI BT 941 BFT

(A) 3
sin™? (—)
2

(c) 3 (D) 2
-1 {2 =71 e (c & (D) 2
tan (2) tan (3) tan=1 (E) tan-1 (5)
82. Number of moles in 180 gram of water is 82 Ul & 180 UH ¥ Al i wer 2
(A) 18 (B) 10 (A) 48 (8) 10
(©) 100 (D) 1 (© 100 (D) 1
Page: 17 477661

L



B83.

85.

87.

An aqueous solution of Ferric chloride is
{A) Neutral (8) Alkaline
(C) None (D) Acidic

The order of radius of the nucleus of an atom
is

W 107 m 8 107 m

© 1072 m @ 107%m

Which one of the following is the standard
for atomic mass ?

12 16
0 ® Lo
C 1 14
© H e

Gobar gas contains mainly
A} C,Hg (8 C4Hyo

(© CH, () C,H,

Balance the equation
g 4 12
4Be + 2He . 6C S

(A) a-particles (8) B-particles

(€} Positron (D) Neutron

Which of the following is not a nitrogenous
fertilizer ?
{A) Urea

{8) Ammonium Sulphate
{C) Super Phosphate

(D) Ammonium Nitrate

85.

87.

e FARTEE BT g Ao 8
(A) Ieri= (8) &g

© % T8 (D) apeflg

s A ¥ Ae @ Brow @ @i
Bl ®

N 107 ¥ m ® 10 m

0F 107 m ® - 107°m

g § ¥ P W TE WA T S
fordr wr@ & 7

12 16

(A) i (8) ‘0
bl |

(€ iH (D) <2
Mex 9 § =G e B
A}  C;Hg (B)  C4Hye
(© CH, (®  C3Hg
e @ ddfera I
9 4 12
4Be - 2He - 6C i cidis
W o1 ®) g
(© difsgH (D) =IgiH

P & ¥ P AR @e T 8
(A R

(8) aifE Wb

(O YR BT

(©) sEifRm Argee

Page: 18
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89. The material of permanent magnet has
(A} Low retentivity, high coercivity

(8) High retentivity, low coercivity
{©) Low retentivity, low coercivity

(D) High retentivity, high coercivity

90. Electrical conductivity of a semiconductor
(A) Decrease with the rise in its temperature

(B) First increases and then decreases with
the rise in its temperature.

(€} Increase with the rise in its temperature.

(D)Does not change with the
temperature.

rise in

91. Water falls from 100 metre height. What will
be temperature rise per kg of water due to
fall? (g = 10 m/sec?, specific heat of

water = 4200 Joule/kg °C)
(A) 2238 °C (8) 1.238°C

(€ 0.0238°C () 0.238°C
92. Zener diode is used as an
(A) Amplifier (B) Voltage Regulator

(€) Oscillator (D) Rectifier

9. A sphere of 150 kg is kept on frictionless
surface. A bullet of 0.15 kg mass with velocity
200 m/sec strikes the sphere and stops. After
collision the velocity of sphere will be

8. Wt EF BT yered gar @

91.

(A = grorsfterar, S=a RAafear
®) =g gRorferan, e fanfRar
© =1 arorferar, = Pranfear
) J=g gRvElidar, S= fSafgar
flt sf-aree @t e arasar
W T gfg & g gedt ? |

BT gfg & a9 gEd gt & fw
Hedl

© 9 gfg & e qedt ¥ |
(®) a9 gfg & ara wRaffa & e 2

100 HeX B FAE A & AR @1 & |
A W iR W 39% wfy fedm @
q foot qfy @nft ? (g = 10 m/sec?.

Vel @1 faRre W - 4200 s/ oc )
W 2238°C (8  1.238°C

©  0.0238°C (b} 0.238°C

SR ST BT SYANT § -

(A TrefiprR & w9 §

B fIvg = & w9 d

© s & w9 H

) feeardt & vy #

150 f&u &1 v& Mo udvr R a7 w
@ 2| U 045 fHw @ el 200 WA

& 47 ¥ Mol A Toae faRrngwen §
(M GAA B | TFPY & gTAT M BT 4

(A) 0.2 m/sec (B) 20 m/sec BN
(€) 2.0 m/sec (D) 0.3 m/sec (A) 0.2 FHrH (8) 20 H
© 2.0 Hre (0 0.3 HY
Pag:19 477661
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97.

Ammonia is commercially prepared by
(A) Ostwald process  (B) Haber’s process

{(C) Contact process

(D) Lead Chamber process

The percentage of Calcium in CaCO; is
(A) 52% (B) 48%
(€) 20% (D) 40%

Modulus of rigidity of a liquid is
(A) Zero (B) Infinite

(€) Negative and finite () Positive and finite

Least count of vernier callipers is 0.01 cm.
Measuring the length of an object reading of
main scale is 2.7 cm and the fifth division of
vernier scale coincide with any division of
main scale. The length of object will be

(A) 2.75 cm (8) 3.75cm
{C) 4.75cm (D) 1.75cm
Which contain maximum no. of molecules ?

{A) 10 gm Hydrogen (B) 10 gm Oxygen
{C) 10 gm Nitrogen

{D) 10 gm Carbon dioxide

Two equal forces of 300 Newton each acting
at an angle of 607, the resultant will be

(A) 155.3 Newton (8) 173.2 Newton
(€) None of these (D) 162.4 Newton

95.

a7.

oW wuRe 'R W fEud g™
gt S § 2

A) siRcares fafr (B ‘ex AR

© wrege Ay 0) g g=x Ay
Caco, ¥ dfoerr @t gfreraar &

(A) 529 (B) 48%

© 20% (D) 40%

foeht g & ford goar UiE

(A 3= (B) a==d

(© zporHe AR diffd
0) g AR diffd

P afRR Hefied $T FTTHiS 0.01 T
2| T R O A aWTE AN WY
T o B UGAS 2.7 WA AT T
affax @1 dfedr faed gEn Wa & e
e & W § urar T | g% @
Ty B

(A) 2.75 I (B) 3.75 O

© 4.75 4 (o) 175 @t
e A aftreaw vy e € 2
(A) 10 T BIEHS
(8) 10 TTH SRS

(© 40 7TH ATFEIO
(©) 10 W BT STFIFAZS

300 g7 4 & A W g S
f5 WER o0 W &, & IRomA AT B

(A) 155.3 =gc+ (8) 173.2 e+
© g99 | By 7l
(D) 162.4 g
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| 100 A person travels towards North by 4 m and | 100. U =Ifdq SaX @ iR 4 Hew qABY
f then turns to West and travels by 3 m. The R 3 Hexr uf¥eq & IR gadr T |
| distance and displacements from initial point RS ﬁv_g A Tl TR @ =1
. are faemosr &rm
| (A) 7mand1m (B) 7mand 7 m (A) 7 e Td 1 diex

(€©) 5mand7m (D) 7mand5m (8) 7 Aiex Ug 7 Hew

———
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